ADDITIONAL TERMS AND CONDITIONS (Construction Contracts Only)

1. CONTRACTOR'S LICENSE: West Virginia Code § 21-11-2 requires that all persons desiring to perform contracting work in this state be licensed. The West Virginia Contractors Licensing Board is empowered to issue the contractor's license. Applications for a contractor's license may be made by contacting the West Virginia Division of Labor. West Virginia Code § 21-11-11 requires any prospective Vendor to include the contractor's license number on its bid. Failure to include a contractor's license number on the bid shall result in Vendor's bid being disqualified. Vendors should include a contractor's license number in the space provided below.

Contractor's Name:_	Lost Vargue	ou Electer 110
Contractor's License	No. WV-CO	049746

The apparent successful Vendor must furnish a copy of its contractor's license prior to the issuance of a Award Document.

- 2. DRUG-FREE WORKPLACE AFFIDAVIT: W. Va. Code § 21-1D-5 provides that any solicitation for a public improvement contract requires each Vendor that submits a bid for the work to submit at the same time an affidavit that the Vendor has a written plan for a drug-free workplace policy. To comply with this law, Vendor must either complete the enclosed drug-free workplace affidavit and submit the same with its bid or complete a similar affidavit that fulfills all of the requirements of the applicable code. Failure to submit the signed and notarized drug-free workplace affidavit or a similar affidavit that fully complies with the requirements of the applicable code, with the bid shall result in disqualification of Vendor's bid. Pursuant to W. Va. Code 21-1D-2(b) and (k), this provision does not apply to public improvement contracts the value of which is \$100,000 or less or temporary or emergency repairs.
 - 2.1.DRUG-FREE WORKPLACE POLICY: Pursuant to W. Va. Code § 21-1D-4, Vendor and its subcontractors must implement and maintain a written drug-free workplace policy that complies with said article. The awarding public authority shall cancel this contract if: (1) Vendor fails to implement and maintain a written drug-free workplace policy described in the preceding paragraph, (2) Vendor fails to provide information regarding implementation of its drug-free workplace policy at the request of the public authority; or (3) Vendor provides to the public authority false information regarding the contractor's drug-free workplace policy. Pursuant to W. Va. Code 21-1D-2(b) and (k), this provision does not apply to public improvement contracts the value of which is \$100,000 or less or temporary or emergency repairs.
- DRUG FREE WORKPLACE REPORT: Pursuant to W. Va. Code § 21-1D-7b, no less
 than once per year, or upon completion of the project, every contractor shall provide a
 certified report to the public authority which let the contract. For contracts over \$25,000, the

10. VENDOR DEFAULT:

- 10.1. The following shall be considered a vendor default under this Contract.
 - 10.1.1. Failure to perform Contract Services in accordance with the requirements contained herein.
 - 10.1.2. Failure to comply with other specifications and requirements contained herein.
 - 10.1.3. Failure to comply with any laws, rules, and ordinances applicable to the Contract Services provided under this Contract.
 - 10.1.4. Failure to remedy deficient performance upon request.
- 10.2. The following remedies shall be available to Agency upon default.
 - 10.2.1. Immediate cancellation of the Contract
 - 10.2.2. Immediate cancellation of one or more release orders issued under this Contract.
 - 10.2.3. Any other remedies available in law or equity.

11. MISCELLANEOUS:

11.1. Contract Manager: During its performance of this Contract, Vendor must designate and maintain a primary contract manager responsible for overseeing Vendor's responsibilities under this Contract. The Contract manager must be available during normal business hours to address any customer service or other issues related to this Contract. Vendor should list its Contract manager and his or her contact information below.

Contract Manager: VISTIN Dozell
Vendor's Address: Dr Bix Stranger

Amms, Wild Dozell

Telephone Number: 364 - 881 - 1383

Fax Number: 364 - 381 - 4444

Email Address: Wilelen or a gmal car

CERTIFICATIONAND SIGNATURE PAGE

By signing below, or submitting documentation through wvOASIS, I certify that I have reviewed this Solicitation in its entirety; understand the requirements, terms and conditions, and other information contained herein; that I am submitting this bid, offer or proposal for review and consideration; that I am authorized by the vendor to execute and submit this bid, offer, or proposal, or any documents related thereto on vendor's behalf; that I am authorized to bind the vendor in a contractual relationship; and that to the best of my knowledge, the vendor has properly registered with any State agency that may require registration.

(Company)

(Authorized Signature) (Representative Name, Title)

361 - 881-1383/34-381-444/8/31/15

(Phone Number) (Pax Number) (Date)

ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.: CFRQ_ GSD1600000004

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

	Numbers Received: ox next to each adde	ndum received)	
12	Addendum No. 1		Addendum No. 6
6	Addendum No. 2		Addendum No. 7
D	Addendum No. 3		Addendum No. 8
	Addendum No. 4		Addendum No. 9
	Addendum No. 5		Addendum No. 10
discussion hel	rstand that any verb ld between Vendor's	al representation representatives :	ddenda may be cause for rejection of this bid. made or assumed to be made during any oral and any state personnel is not binding. Only se specifications by an official addendum is
Company	Vivginia Flore	ter, LLC	Antifolia Manager
Authorized Sig	nature		
Date (31	15		
NOTE: This	addendum acknow	ledgement shoul	ld be submitted with the bid to expedite

document processing.

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

MANDATE: Under W. Va. Code §5A-3-10a, no contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and: (1) the debt owed is an amount greater than one thousand dollars in the aggregate; or (2) the debtor is in employer default.

EXCEPTION: The prohibition listed above does not apply where a vendor has contested any tax administered pursuant to chapter eleven of the W. Va. Code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

DEFINITIONS:

WITNESS THE FOLLOWING SIGNATURE:

STATE OF WEST VIRGINIA
LITA G. SAMPLES
2052 Camp Creek Road
Bomont, West Virginia 25030
My Commission Expires Aug. 27, 2016

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Employer default" means having an outstanding balance or liability to the old fund or to the uninsured employers' fund or being in policy default, as defined in W. Va. Code § 23-2c-2, failure to maintain mandatory workers' compensation coverage, or failure to fully meet its obligations as a workers' compensation self-insured employer. An employer is not in employer default if it has entered into a repayment agreement with the Insurance Commissioner and remains in compliance with the obligations under the repayment agreement.

"Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

AFFIRMATION: By signing this form, the vendor's authorized signer affirms and acknowledges under penalty of law for false swearing (*W. Va. Code* §61-5-3) that neither vendor nor any related party owe a debt as defined above and that neither vendor nor any related party are in employer default as defined above, unless the debt or employer default is permitted under the exception above.

Vendor's Name: West Virginia Elevator, UC Authorized Signature: Date: 9-1-15 State of West Virginia County of Kandula, to-wit: Taken, subscribed, and sworn to before me this 1st day of September, 20/5 My Commission expires Dega 27, 20/6. AFFIX SEAL HERE NOTARY PUBLIC OFFICIAL SEAL NOTARY PUBLIC Purchasing Affidavit (Revised 07/01/2012)



State of West Virginia DRUG FREE WORKPLACE CONFORMANCE AFFIDAVIT West Virginia Code §21-1D-5

STATE OF WEST VIRGINIA,							
COUNTY OF POANE, TO-WIT:							
I, CHRG BRADLEY, after being first duly sworn, depose and state as follows:							
1. I am an employee of; and, (Company Name)							
2. I do hereby attest that WV ELEVATOR (Company Name)							
maintains a valid written drug free workplace policy and that such policy is in compliance with West Virginia Code §21-1D.							
The above statements are sworn to under the penalty of perjury.							
By: CHRIS BRADLEY SOLL	_						
Title: U.P.							
Company Name: WU. ELFVATOR							
Date: 9-1-15							
Taken, subscribed and sworn to before me this 1st day of Soptember, 2015.							
By Commission expires Illin 27, 2016							
OFFICIAL SEAL NOTARY PUBLIC STATE OF WEST VIRGINIA LITA G. SAMPLES 2052 Camp Creek Road Bomont, West Virginia 25030 My Commission Expires Aug. 27, 2016 My Commission Expires Aug. 27, 2016							
WITH WV CODE PROVISIONS. FAILURE TO INCLUDE THE AFFIDAVIT WITH THE							
RTD CHALL DECLET THE DECOMAL PERCAPETATION OF THE AUTEDIATE WHITE THE							

BID SHALL RESULT IN DISQUALIFICATION OF THE BID.

EXHIBIT A - CRFQ_GSD1600000004 PRICING PAGE

Item #	EV#	Location Name	Capacity	Туре	<u>Land</u>	Monthly Cost	QTY	<u>Y€</u>	early Cost
		Capitol Complex, Building 1		 					
1	EV0001639	Elevator #1, East Wing	2,500	Elev/Trac	5	400	12	\$	4,800.00
2	EV0001639	Elevator #2, East Wing	2,500	Elev/Trac	5	400	12	\$	4,800.00
3	EV0001639	Elevator #3, MB, AG Office	1,800	Elev/Trac	3	400	12	\$	4,800.00
4	EV0001639	Elevator #4, MB	2,500	Elev/Hyd	4	191.61	12	\$	2,299.32
5	EV0001639	Elevaror #5, MB, House Side	2,500	Elev/Trac	4	400	12	\$	4,800.00
6	EV0001639	Elevator #6, MB, Senate side	2,500	Elev/Trac	4	400	12	\$	4,800.00
7	EV0001639	Elevator #7, MB, Gov. Office	1,800	Elev/Trac	3	400	12	\$	4,800.00
8	EV0001639	Elevator #8, West Wing	2,500	Elev/Trac	5	400	12	\$	4,800.00
9	EV0001639	Elevator #9, West Wing	2,500	Elev/Trac	5	400	12	\$	4,800.00
10	EV0001639	W/C Lift, West Wing	750	WC Lift	2	100	12	\$	1,200.00
11	EV0001639	W/C Lift, East Wing	750	WC Lift	2	100	12	\$	1,200.00
		Capitol Complex, Building 3		110 Lii				¥	1,200.00
12	EV0001639	Elevator #1	3,000	Elev/Trac	9	400	12	\$	4,800.00
13	EV0001639	Elevator #2	3,000	Elev/Trac	9	400	12	\$	4,800.00
14	EV0001639	Elevator #3	3,000	Elev/Trac	9	400	12	\$	4,800.00
15	EV0001639	Elevator #4	3,000	Elev/Trac	9	400	12	\$	4,800.00
	240001000	Capitol Complex, Building 4	3,000	Lievitiac	3	400	12		7,000.00
16	EV0001639	Elevator #1, Left	2,500	Elev/Trac	8	400	12	\$	4,800.00
17	EV0001639	Elevator #2, Right	2,500	Elev/Trac	8	400	12	\$	4,800.00
18	EV0001639	W/C Lift,	450	WC Lift	2	100	12	\$	1,200.00
	L 4 0 0 0 1 0 0 3	Capitol Complex, Building 5	450	VVC LIII		100	12	4	1,200.00
19	EV0001639	Elevator #1	3,500	Elev/Trac	11	400	12	\$	4 800 00
20	EV0001639	Elevator #2	3,500	Elev/Trac	11	400	12	\$	4,800.00 4,800.00
21	EV0001639	Elevator #3	3,500	Elev/Trac	11	400	12	\$	4,800.00
. 22	EV0001639	Elevator #4	3,500	Elev/Trac	11	400	12	\$	4,800.00
23	EV0001639	Elevator #5, Executive	2,500	Elev/Trac	11	400	12	\$	
24	EV0001639	Elevator #6, Frt	·		12		12	\$	4,800.00
24	EV0001039	Capitol Complex, Building 6	5,000	Elev/Trac	12	400	12	Þ	4,800.00
25	EV0001639	Elevator #1	3,500	Flour/Trace		400	12		4 000 00
25 26	EV0001639	Elevator #2		Elev/Trac	9	400	12	\$	4,800.00
27	EV0001639	Elevator #3	3,500	Elev/Trac	9	400	12	\$	4,800.00
	EV0001639	Elevator #4	3,500	Elev/Trac	9	400	12	\$	4,800.00
28 29	EV0001639	Elevator #5	3,500	Elev/Trac	9	400	12	\$	4,800.00
29	EA000 1099	Capitol Complex, Building 7	5,000	Elev/Trac	10	400	14	\$	4,800.00
30	EV0001639	Elevator #1	2.000	Eleval had	_	404.04	12	•	0.000.00
		Elevator #2, Frt	2,000	Elev/Hyd	3	191.61	12	\$	2,299.32
31	EV0001639	Capitol Complex, Building 8	10,000	Elev/Hyd	3	191.61	14	\$	2,299.32
20	E) (0004 600	Elevator #1, Governors Mansion	750	D. J. D.		404.04	42		
32	EV0001639		750	Priv Res	4	191.61	12	\$	2,299.32
	T. 1000 1000	Capitol Complex, Building 13					40	_	
33	EV0001639	Elevator #1, Parking Garage Elevator #2, Parking Garage	2,500	Elev/Hyd	4	191.61	12 12	\$	2,299.32
34	EV0001639		2,500	Elev/Hyd	4	191.61	14	\$	2,299.32
35	EV0001639	Capitol Complex, Building 15 Elevator #1, 2019 Wash. St E.	2,500	Elevillad	2	404.64	12	¢	2 200 20
30	EA0001098	Capitol Complex, Building 17	2,000	Elev/Hyd		191.61	14	\$	2,299.32
36	EV0001639	Elevator #1, 2101 Wash. St E.	2,100	Elev/Hyd	3	191.61	12	\$	2,299.32
		Building 20, Leon Sullivan Way						_	
37	EV0001639	Elevator #1	6,000	Elev/Trac	6	400	12	\$	4,800.00
38	EV0001639	Elevator #2	4,000	Roped/Hy	6	200	12	\$	2,400.00

EXHIBIT A - CRFQ_GSD160000004 PRICING PAGE

Item #	EV#	Location Name	Capacity	<u>Type</u>	Land	Monthly Cost	QTY	Ye	early Cost
		Duilding 22 Leasend Distinger						-	
		Building 22, Lee and Dickinson					40		
39	EV0001639	Elevator #1, Tax & Revenue	2,000	Elev/Trac	6	400	12	\$	4,800.00
40	EV0001639	Elevator #2, Tax & Revenue	2,000	Elev/Trac	6	400	12	\$	4,800.00
41	EV0001639	Elevator #3, Tax & Revenue	2,000	Elev/Trac	6	400	12	\$	4,800.00
		Building 36, One Davis Square		-					
42	EV0001324	Elevator #1	2,500	Elev/Hyd	5	191.61	12	\$	2,299.32
43	EV0001324	Elevator #2	2,500	Elev/Hyd	5	191.61	12	\$	2,299.32
44	EV0001324	Elevator #3	2,000	Elev/Hyd	2	191.61	12	\$	2,299.32
45	EV0001324	Elevator #4	4,000	Elev/Trac/	5	400	12	\$	4,800.00
		Building 37, DEP Kanawha City	-					ļ	
46	EV0002973	Elevator #1	3,000	Elev/Hyd	3	191.61	12	\$	2,299.32
47	EV0002973	Elevator #2	3,000	Elev/Hyd	3	191.61	12	\$	2,299.32
48	EV0002973	Elevator #3	3,000	Elev/Hyd	3	191.61	12	\$	2,299.32
49	EV0002973	Elevator #4	5,000	Elev/Hyd	3	191.61	12	\$	2,299.32
		Building 23, Beckley, WV							
50	EV0001642	Elevator #1	2,500	Elev/Trac	4	400	12	\$	4,800.00
51	EV0001642	Elevator #2	3,500	Elev/Hyd	5	191.61	12	\$	2,299.32
		Building 25, Parkersburg, WV							
52	EV0001295	Elevator #1	2,500	Elev/Hyd	6	191.61	12	\$	2,299.32
53	EV0001295	Elevator #2	6,000	Elev/Trac	5	400	12	\$	4,800.00
		Building 32, Huntington, WV							
54	EV0002878	Elevator #1	5,000	Elev/Hyd	2	191.61	12	\$	2,299.32
55	EV0002878	Elevator #2	3,000	Elev/Hyd	2	191.61	12	\$	2,299.32
		Building 34, Weirton, WV							
56	EV0003074	Elevator #1	3,500	Elev/Hyd	2	191.61	12	\$	2,299.32
57	EV0003074	Elevator #2	5,000	Elev/Hyd	2	191.61	12	\$	2,299.32
		Bldg. 54, Fairmont, WV							
58		Elevator #1	4,500	Elev/Trac	5	400	12	\$	4,800.00
59		Elevator #2	3,500	Elev/Trac	5	400	12	\$	4,800.00
		Bldg. 55, Logan, WV						Ť	-,
60	EV0003593	Elevator #1	5,000	Elev/Trac	5	400	12	s	4,800.00
61	EV0003593	Elevator #2	2,500	Elev/Trac	5	400	12	\$	4,800.00
		Bldg. 86, Smith Street, Chas						Ť	4,000100
62	EV0002254	Elevator #1	3,000	Elev/Hyd	5	191.61	12	\$	2,299.32
63	EV0002254	Elevator #2	3,000	Elev/Hyd	5	191.61	12	\$	2,299.32
		Bldg. 74, South Charleston	0,000	_ to v/i tyu		101.01	12	4	±,233.32
64	EV0001202		2,100	Elev/Hyd	3	191.61	12	\$	2,299.32
		Bldg. 84, Greenbrier St., Chas	2,100	_lov/i iyu		131.01	14	4	<u></u>
65	EV0002792	Elevator #1	2,500	Elev/Hyd	3	191.61	12	\$	2,299.32
	LV0002132	Bldg. 88, Players Club Dr., Chas	2,300	Elevinyu	3	191.01	12	P	2,288.32
66	EV0002066		2,500	Elev/Hyd		404 75	12		2 204 02
00	L ¥ 0002000	LICYGLOI # I	2,000	⊏iev/⊓yū	2	191.75	12	\$	2,301.00
			1						
								-	
			+						
			-						
-	<u>.</u>								
								<u> </u>	

EXHIBIT A - CRFQ_GSD1600000004 PRICING PAGE

_										
		Total Monthly Charge		-	-	\$	19,882.00	,		
							 :			
		Total Yearly Charge					Α		\$	238,584.00
			(sample 1.25)					Ψ	230,304.00
67		Cost for Parts Markup (%)		X \$10,	000		В	-	\$	1,250.00
-			(enter this number as a unit price of mark-up cost in line item 67 in WVOASIS)	,			_			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
			(sample \$85)							
68		Flat Hourly Rate (Open-end Services)	\$94.82	X 200	Hours :		С		\$	18,964.00
			(enter this hourly rate in the hourly rate of Item 68 in WVOASIS)							
	-	Add Columns A+B+C= D Your Bid								
		Add Golding A. B. G. B Todi Bid								
		Total Bid					D		\$	258,798.00
Note: W and Fla	t hourly for o	prices through VSS in WVOASIS, enter each of pen-end services are estimates and for evaluation	the unit price n purposes o	es as listed enly	here in t	he pr	icing pages	s. Cost for	Part	s Mark-up
	CONTAC	T INFORMATION								
								·		
	Company	Name:	<u> </u>	W	est Virg	jinia	Elevato	r, LLC.		
	Company	Address:			,	DO.	Day 57			
	Company	Tradition.		-	PO Box 57 Amma, WV 25005					
					7 11	iiiia,	20000			
	Contracto	r Contact Name:				Dusti	n Bozek			
	Contracto	r Phone Number:				304-8	81-1383			
	0 1 1									
	Contracto	r Fax Number:			;	304-3	81-4444			
	Contracto	r Email Address:			!					
	Contracto	LINGII AUGIESS.			wvele	ozeve	@gmail.cor	<u>11</u>		
	Please pr	ovide the following numbers below:		<u> </u>		L				
i										
	24 Hour F	Phone Number for Callback Services:			1.	-888	454-0193			
	Fax/email	for Release Order Receipt:		304	4-381-444	4 / wv	elevator@g	mail.com		

EXHIBIT A - CRFQ_GSD1600000004 PRICING PAGE

	References	
	1. Reference Name:	Gary Calvert
	Position:	Supervisor
	Address:	781 Chestnut Ridge Rd
	Telephone Number:	304-554-5279
	Desired News	
	Project Name:	Mylan Pharmaceuticals
	Project Description	Elevator Maintenance
	Project Description:	Elevator Maintenance
	2. Reference Name:	Brad Wickline
1	Z. Reference Name:	Brad wickline
	Position:	Supervisor
	FOSILIOII.	Supervisor
	Address:	Alderson, WV
	/ tudicos.	Alderson, VVV
	Telephone Number:	304-445-3300
	Totophono Harribot.	00110000
	Project Name:	FPC Alderson
		1107.400.001
	Project Description:	Elevator Maintenance
	3. Reference Name:	Tim Kerns
	Position:	Supervisor
	Address:	Weston, WV
	Telephone Number:	304-269-1210
	Project Name:	Sharpe Hospital
1		
·	Project Description:	Elevator Maintenance

BID BOND

				NTS, That we	, the unders	igned, <u>Wes</u>	t Virginia E	levator,	LLC	
of				W	<u>v</u>	, as Princ	ipal, and <u>Th</u> e	<u>e Cincin</u>	<u>nati Insuran</u>	ce Company
of	<u>Cincin</u>		<u> </u>	OH					er the laws of	
OH_	wit	h its principa	al office in the	City of	Cincinna	<u>i</u> , a:	s Surety, are	held an	d firmly boun	d unto the State
	it Virginia, as C									ayment of which,
well an	d truly to be m	ade, we join	tly and seven	ally bind ourse	elves, our he	irs, administ	trators, execu	utors, suc	ccessors and	assigns.
										g Section of the
Departr	ment of Admin	stration a ce	ertain bid or p	roposal, attaci	hed hereto a	and made a	part hereof, t	io enter i	nto a contract	in writing for
Eleva	tor Maintena	nce - Acco	rding to Pla	ns & Specfic	ations					
					_ _					
	NOW THER	EFORE,		<u> </u>						
	•		L							
	(a) If sa (b) If sa	iid did shall i Bid bid shall	be rejected, o)[d and the Dri	ncinal shall	onton into a				bid or proposal
attache	in helefo sud :	snak rumisn	any other bo	nds and Insura	ance require	id by the hid	or proposal	and cha	il in all other r	penacte parform
nic agii	gerrent Claste	u by the acc	eptance of Sa	iid bid. then th	is obligation	i shall be nu	li and void a	whenwise	thic obligation	n chall romain in
IUII IUIG	e and effect. exceed the per	it is express	iy understood	and agreed	that the liat	ility of the S	Surety for any	y and all	claims hereu	nder shall, in no
	modula ino por		i una obilgati	DII 48 HOIOHI 8	ialeu.					
way im _l waive n	The Surety, fi paired or affect notice of any su	Xed by any	extension of	reby stipulate: the time withi	s and agree in which the	s that the ot Obligee m	oligations of a	said Sure	ety and its bor and said Sure	nd shall be in no ety does hereby
	WITNESS. th	ie fallowina :	sionatures an	id seals of Prir	ncinal and S	lireti eveci	ited and eas	iod by a	nennas afficau	of Principal and
Suretv.	or by Principal									or Principal and
	or by thirospan	marviocally	и синавана	an mariana,	uiis <u>iat</u>	oay or	Gepteilit	<u>)CI</u>	, 2015	_
Principa	al Seal					We	st Virginia i	Elevator	r, LLC	
							A .		of Principal)	
						Bv	Chr	in A	120	~
							(Must be	Preside	nt, Vice Presi	dent, or
							Ė	Duly Auth	ortzed Agent)	,
								1) [>	
								(1	litie)	
Surety S	Seal					The	Cincinnati	Insurar	nce Compan	ıv
						-			of Surety)	
)	1	4 -
						Ву:	10	L - `	// (M-
							-/W	Wile	17.1	1 Caye
						Patho	ia A. Moye, W¹	v Kesident	Agent Attor	mey-in-5act

iMPORTANT – Surety executing bonds must be licensed in West Virginia to transact surety insurance, must affix its seal, and must attach a power of attorney with its seal affixed.

THE CINCINNATI INSURANCE COMPANY

Fairfield, Ohio

POWER OF ATTORNEY

KNOW ALL MEN BY THESE PRESENTS: That THE CINCINNATI INSURANCE COMPANY, a corporation organized under the laws of the State of Ohio, and having its principal office in the City of Fairfield, Ohio, does hereby constitute and appoint

Allan L. McVey; Gregory T. Gordon; Patricia A. Moye and/or Kimberly Wilkinson

Charleston, West Virginia

its true and lawful Attorney(s)-in-Fact to sign, execute, seal

and deliver on its behalf as Surety, and as its act and deed, any and all bonds, policies, undertakings, or other like instruments, as follows: Any such obligations in the United States, up to

Fifty Million and No/100 Dollars (\$50,000,000.00).
This appointment is made under and by authority of the following resolution passed by the Board of Directors of said Company at a meeting held in the principal office of the Company, a quorum being present and voting, on the 6th day of December, 1958, which resolution is still in effect:

"RESOLVED, that the President or any Vice President be hereby authorized, and empowered to appoint Attorneys-in-Fact of the Company to execute any and all bonds, policies, undertakings, or other like instruments on behalf of the Corporation, and may authorize any officer or any such Attorney-in-Fact to affix the corporate seal; and may with or without cause modify or revoke any such appointment or authority. Any such writings so executed by such Attorneys-in-Fact shall be binding upon the Company as if they had been duly executed and acknowledged by the regularly elected officers of the Company."

This Power of Attorney is signed and sealed by facsimile under and by the authority of the following Resolution adopted by the Board of Directors of the Company at a meeting duly called and held on the 7th day of December, 1973.

"RESOLVED, that the signature of the President or a Vice President and the seal of the Company may be affixed by facsimile on any power of attorney granted, and the signature of the Secretary or Assistant Secretary and the seal of the Company may be affixed by facsimile to any certificate of any such power and any such power of certificate bearing such facsimile signature and seal shall be valid and binding on the Company. Any such power so executed and sealed and certified by certificate so executed and sealed shall, with respect to any bond or undertaking to which it is attached, continue to be valid and binding on the Company."

IN WITNESS WHEREOF, THE CINCINNATI INSURANCE COMPANY has caused these presents to be sealed with its corporate seal, duly attested by its Vice President this 10th day of May, 2012.

STATE OF OHIO COUNTY OF BUTLER

) ss:

THE CINCINNATI INSURANCE COMPANY

Vice President

On this 10th day of May, 2012, before me came the above-named Vice President of THE CINCINNATI INSURANCE COMPANY, to me personally known to be the officer described herein, and acknowledged that the seal affixed to the preceding instrument is the corporate seal of said Company and the corporate seal and the signature of the officer were duly affixed and subscribed to said instrument by the authority and direction of said corporation.

MARK J. HÜLLER. Attomev at Law NOTARY PUBLIC - STATE OF OHIO

My commission has no expiration date. Section 147.03 O.R.C.

I, the undersigned Secretary or Assistant Secretary of THE CINCINNATI INSURANCE COMPANY, hereby certify that the above is a true and correct copy of the Original Power of Attorney issued by said Company, and do hereby further certify that the said Power of Attorney is still in full force and effect.

GIVEN under my hand and seal of said Company at Fairfield, Ohio.

this 1st day of September

2015

Assistant Secretary

BN-1005 (5/12)



CONTRACTOR LICENSE

Authorized by the

West Virginia Contractor Licensing Board

Number:

WV049746

Classification:

SPECIALTY

WEST VIRGINIA ELEVATOR LLC DBA WEST VIRGINIA ELEVATOR LLC PO BOX 57 AMMA, WV 25005

Date Issued

Expiration Date

JULY 05, 2015

JULY 05, 2016

Chair, West Virginia Contractor

Licensing Board

This license, or a copy thereof, must be posted in a conspicuous place at every construction site where work is being performed. This license number must appear in all advertisements, on all bid submissions and on all fully executed and binding contracts. This license cannot be assigned or transferred by licensec. Issued under provisions of West Virginia Code, Chapter 21, Article 11.





CERTIFICATE OF LIABILITY INSURANCE

DATE(MM/DD/YYYY) 7/8/2015

HIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION CIVILY AND CONFERS NO REGHTS UPON THE CERTIFICATE HOLDER. THIS ERTIFICATE DOES-NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES ELOW. THIS SERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT SETWEEN THE ISSUING INSURER(S), AUTHORIZED EPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER. RPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. If SUBROGATION IS WAIVED, subject to is terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the artificate holder in lieu of such endorsement(s). DUCER PHONE (AC. No. Est: (304) 622-1562 (AC. No. est: (304) 622-1 E-MAIL ADDRESS: steve.haning@clarksburg-associates.com CLARKSBURG ASSOC/INSURE AMERICA (AC, No): (304) 622-1568 PO Box 1638 Clarksburg, WV 26302 HISURER(S) AFFORDING GOVERAGE INSURER A: Sentinel Ins Co INSURER B. The Hartford Co JRED West Virginia Elevator LLC PO Box 57 INSURER C: Amma, WV 25005 INSURER D: INSURER E : INSURER F : VERAGES CERTIFICATE NUMBER: REVISION NUMBER: HIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD IDICATED. NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS ERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, XCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS. IADOL SUBIR TYPE OF INSURANCE LIMITS POLICY NUMBER X COMMERCIAL GENERAL LIABILITY s 1,000,000 EACH OCCURRENCE DAMAGE TO RENTED PREMISES (Ea occurrence) 300,000 CLAIMS-MADE X OCCUR \$ 10,000 2 MED EXP (Any one person) 13UENOJ6544 7/10/15/7/10/16 1,000,000 PERSONAL & ADV INJURY s 3,000,000 GENERAL AGGREGATE GEN'L AGGREGATE LIMIT APPLIES PER: \$ 3,000,000 PRO-JECT PRODUCTS - COMP/OP AGG LOC POLICY \$10,000,000 Maxium Aggre COMBINED SINGLE LIMIT (Ea accident) OTHER: 1,000,000 **AUTOMOBILE LIABILITY BODILY INJURY (Per person)** ANY AUTO 6/12/156/12/16 40UEZCZD5497 SCHEDULED AUTOS NON-OWNED ALL OWNED BODILY INJURY (Per accident) \$ X PROPERTY DAMAGE (Per accident) S HIRED AUTOS ŝ \$ UMBRELLA LIAB EACH OCCURRENCE OCCUR \$ AGGREGATE **EXCESS LIAB** CLAIMS-MADE RETENTION \$ DED WORKERS COMPENSATION STATUTE AND EMPLOYERS' LIABILITY EL EACH ACCIDENT s ANY PROPRIETOR/PARTNER/EXECUTIVE OFFICERUMEMBER EXCLUDED? M/A ŧs E.L. DISEASE - EA EMPLOYE (Mandatory in NH) If yes, describe under DESCRIPTION OF OPERATIONS below E.L. DISEASE - POLICY LIMIT SCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (ACORD 101, Additional Remarks Schedule, may be attached if more space is required) CANCELLATION RTIFICATE HOLDER SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS. AUTHORIZED REPRESENTATIVE

ACORD

CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY)

06/15/2015

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(les) must be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s). insure America FAX (AIC, No): Clarksburg Associates PO Box 1638 INSURER(S) AFFORDING COVERAGE NAIC# Clarksburg WV 26302 INSURER A: Brickstreet Insurance Co 12372 INSURED INSURER B : West Virginia Elevator LLC INSURER C: 9862 Clay Rd INSURER D : INSURER 2: Left Hand WV 25251 INSURER F: COVERAGES CERTIFICATE NUMBER: **REVISION NUMBER:** THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED. NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS. ADDL SUBR POLICY EFF | POLICY EXP (MM/DD/YYYY) | (MM/DD/YYYY) TYPE OF INSURANCE LTR POLICY NUMBER LIMITS GENERAL LIABILITY EACH OCCURRENCE DAMAGE TO RENTEL COMMERCIAL GENERAL LIABILITY CLAIMS-MADE OCCUR MED EXP (Any one) PERSONAL & ADV INJURY GENERAL AGGREGATE <u>GEN'L AGGREGATE LIMIT APPLIES PER:</u> PRODUCTS - COMPIOP AGG POLICY PRO-AUTOMOBILE LIABILITY COMBINED SINGLE LIMIT (En accident) ANY AUTO BODILY INJURY (Per person) SCHEDULED AUTOS NON-OWNED AUTOS ALL OWNED BODILY INJURY (Per accide PROPERTY DAMAGE (Per accident) HIRED AUTOS 5 5 UMBRELLA LIAB OCCUR EACH OCCURRENCE **EXCESS LIAB** CLAIMS-MADE AGGREGATE DZD DED RETENTIONS
WORKERS COMPENSATION X WC STATU- X OTH **BROAD FORM** AND EMPLOYERS' LIABILITY ANY PROPRIETOR/PARTNER/EXECUTIVE OFFICER/MEMBER EXCLUDED? (Mandatory in NH) 1,000,000 ELL EACH ACCIDENT Υ WCB1021213 06/12/2015 06/12/2016 E.L. DISEASE - EA EMPLOYEE 1,000,000 If yes, describe under DESCRIPTION OF OPERATIONS below 1,000,000 E.L. DISEASE - POLICY LIMIT S DESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (Attach ACORD 101, Additional Remarks Schedule, if more space is required) OWNERS/OFFICERS/PARTNERS EXCLUDED: DUSTIN BOZEK AND CHRISTOPHER BRADLEY CERTIFICATE HOLDER CANCELLATION SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE **EVIDENCE OF INSURANCE** THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS. AUTHORIZED REPRESENTATIVE Keny Dille



NATIONAL ELEVATOR INDUSTRY EDUCATIONAL PROGRAM

Be it known that

Christopher J. Bradley

is hereby awarded this Certificate in recognition
of having successfully completed a Mechanic's Examination
held in conjunction with the
National Elevator Industry Educational Program

CHAIRMAN BOARD OF TRUSTEES

11/16/2009

DATE



National Elevator Industry Educational Program Certificate of Completion

Certificate #:	RBC76-ZWV/RBC74-SI5	Stude	ent #: 36218								
	is hereby granted to:										
	Christopher J. Bradley										
to	to certify that he/she has completed to satisfaction:										
West Virgini	a State Licensing Course	_ Granted: _	February 3, 2011								
	and										
8-Hour Mac	hine Room Maintenance	_ Granted: _	February 3, 2011								
	Continuing Education Credit	: 8 Hours	•								
I	do hereby attest that	N	IEIEP Director								
I, personally, completed	I the above program of study.		The a OiDonall								
Signed:	Date:										